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REE 3 10 14 16 20 50 100 200
wEREY AF | AF | AF AF BF BF BFH BFH
100 80* 100 140 160 @ 200 500 = 1000 = 2000
200 40 50 70 80 100 250 = 500 @ 1000
300 27 33 47 53 67 167 333 | 667
400 20 25 35 40 50 125 250 = 500
500 16 20 28 32 40 100 200 = 400
600 14 17 24 25 33 83 167 333
700 12 14 20 23 29 72 143 286
800 10 12.5 18 20 25 63 125 = 250
900 9 11 16 18 22 56 111 222
1000 8 10 14 16 20 50 100 = 200
1200 7 8 12 13 16.6 42 83 167
1500 6 7 10 107 133 33 67 133
1800 5 6 8 9 11.1 28 56 111
2000 4 5 7 8 10 25 50 100
2500 3.2 4 6 6.4 8 20 40 80
3000 3 33 5 5.3 6.6 16.6 33 67
4000 2 2.5 35 4 5 12.5 25 50
5000 1.6 2 2.8 3.2 4 10 20 40
10000 0.8 14 1.6 2 5 10 20
20000 0.4 0.5 0.7 0.8 1 2.5 5 10
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